ECE 300

Spring Semester, 2008

HW Set #2

Due:  January 29, 2005
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Use engineering paper.  Work only on one side of the paper.  Use this sheet as your cover sheet, placed on top of your work and stapled in the top left-hand corner.  Number the problems at the top of the page, in the center of the sheet.  Do neat work.  Underline your answers.  Show how you got your equations.  Be sure to show how you got your answers.  Each problem counts 10 points.

2.XX  You are given the circuits shown in Figures 2.XX(a), 2.XX(b), 2.XX(c).  You are to

            to find node voltages V1, V2, V3 for each diagram. You are to find currents IA, IB, IC and ID for                

            each diagram.  You are to also find VA, VB, VC for each diagram.   From this study, state what 

            you have learned about changing reference points in nodal analysis.
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                                 Figure 2.XX(a) Ans: V1 = 4.8 V; V2 = 2.4 V; V3 = - 2.4 V
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                                  Figure 2.XX(b)  Ans: V1 = 2.4 V;  V2 = -2.4 V;  V3 = -4.8 V
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                                  Figure 2.XX(c)  Ans:  V1 = -2.4 V;  V2 = -4.8 V;  V3 = -7.2 V

3.9 Ans:  Ib = 79.34 A

3.11   Ans:  Vo = 18.86 V;  P1( = 293.9 W;  P2( = 177.79 W;  P4( = 238 W    

3.18 Ans:  V1 = 10 V;  V2 = 20 V;  V3 = 20 V

3.22 Ans:  V1 = -10.91 V;  V2 = -100.36 V

3.50 Ans:  io = 1.73 A   

3.52   Ans:  i1 = 3.5 A,  i2 = -0.5 A,  i3 = 2.5 A

3.63 Ans:  Vx = -4 V;  ix = 2.11 A

3.73  Also solve for the currents:  i1 = 1.58 A;  i2 = 1.09 A;  i3 = 1.24 A;  i4 = -0.88 A
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